QP. Code: 48143

Reg. No.

Sixth Semester B.Com. (NEP) Degree Examination,
August/September, 2024
(Regular)
COMMERCE
Management Accounting

Time : 2 Hrs Max. Marks : 60

Instructions to Candidates:

1. Answer all sections according to internal choice.
©0308 we AR F,3non Kw3020.

2. Use of simple calculator is allowed.
TR BSHITT LN VRT3,

3. Section D case study is compulsory.
%800 W obs (i 8) &3, smchmni3z.

SECTION - A &R - &

1. Answer any FIVE of the following. (5x2=10)
Bewad T8, L0300,

a) Whatis Management Accounting?
NTFTE GBTT D0TTeRD?

b) Name any two techniques of Management Accounting.
VT SEIVIT CRFIEOR STR 30Ty BROR.

c) What are common size financial statements?
TOTIT, THZ,T BEITIAT 3JNEH D0mTed?

d) Whatis Current Ratio?
9 BDTZ R0TTED?

e) State any two objectives of cash flow statement. -
S IO SeFod TR e0g3eBniea) 2300.

fy  Define Management Audit.
DT SRR TV

g) Mention any two uses of Management reports.
LTI S00NY S0 LBINTIRTY wSND.

SECTION - B &y - 0

Answer any THREE of the following. (3x5=15)
BeNESNYO Uemn S0, w3020,

2. Briefly explain the difference between cost accounting and management accounting.
&t SETE, ATF IR TN ARF T SEIIT SR I ZVINYR) R0 TN QTOR.
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Following are the balance sheets of Pavan Ltd. for the year.

Year 2022 (Rs.) 2023 (Rs.)
Liabilities and Assets
Equity share capital 5,00,000 10,00,000
Reserves and Surplus 3,00,000  4,00,000
Long term loans 100,000 2,550,000
Sundry creditors 1,00,000  2,00,000
Total _10,00,000 ___18,50.000
Fixed Assets 500,000 10, 00,000
Investments 2,00,000  2,50,000
Current Assets 3,00,000  6,00,000
Total 10,00.000 _ 18,50,000

Prepare a comparative balance sheet for the year 2022 and 2023, indicating the
percentae of changes.

S5 SUNT ST goznod sanvs s SaBmoins $mons whed 2022 mte 20238 Homsy
ROTLLATL IEROAO TN BeIET0d WRTIHHRYRY DI,

[
S 2022(8».) 2023 (dn.)
TAEMOENY Hay 3 ST
*:gu Beoh wodmy 5,00,000  10,00,000
SDETED By ww 3,00,000 4,00,000
QeTFR0 O 1,00,000 2,50,000
on 1,00,000 2,00,000
A 10,00,000  18,50,000
ATOATIW 5,00,000 10,00,000
0 THLENW 2,00,000 2,50,000
wd SETa L 3,00,000 6,00,000
L, 10,00,000  18,50,000
From the following information of Raj Co. Ltd. calculate (i) Current Ratio (i1) Liquid Ratio.
Particulars Amount (Rs.) Particulars Amount (Rs.)
Sundry creditors 1,20,000 Cash in hand 40,000
Bills payables 40,000 Cash at Bank 80,000
Debentures 2,00,000 Sundry Debtors 1,60,000
Bank overdraft 80,000 Bills receivables 40,000
Outstanding expenses 40,000 Stock 1,20,000
Short term investments 80,0000
Prepaid expenses 20,000

& 8¢NT 02020 CrRod S¢S 0o om0 (i) ) shms DR (i) BRY, YRTI[R,

oo &’f]f"\o

(PR

sTions: 303 (8e.) axonw 303 (8.)
zono: 1,20,000 303983 Sngy 40,000
2

(¥ Scanned with OKEN Scanner



QP. Code: 48143

TTIXLTHT WO 40,000 08390 BN 80,000
Qicuderivs 2,00,000 OMOT 1,60,000
iRo8ned BN 308 ®es 80,000 2,30mWTTT LWOINA 40,000
mERLRT Juns 40,000 1,20,000

LR IO TARTA 80,0000
NI THWS dzgn#a 20,000

5. Determine cash flows from financing activities on the basis of following information:
(i)  Paid Dividend Rs. 30,000
(i) Redeemed debentures Rs. 1,00,000
(i)  Repaid unsecured loans Rs. 40,000
(iv) Converted debentures into equity shares Rs. 2,00,000
(v) Collected Rs. 7,00,000 from issue of debentures
& EYNT TTAT DTUENY SR I0HRY BHOY INE BOTY, S50 SRRD.

(i) ©21203 mowkd on. 30,000
(i) lordthrivs dReRs IRamY da. 1,00,000
(i) ©xVEI MOMYREY DTS SPREE 8. 40,000
(iv) ©n.2,00,000 Q30uBNYTY IR, Sedorivan SOTSFZSAS
(v) ©e.7,00,000 m© TN HITBOWOT Hon LARTINT
6. Explain the contents of Management Report.
VTF T ToONY QT DRODMFTY, HTORD.
SECTION - C xR -

Answer any TWO of the following. (2x10=20)

BENIRYRYY iemdT 0RE, w3020,

7. Explain the tools and techniques used in Management Accounting.

AEFIER T8ZRE0Q WYRTIDE MEERW S8y 203rwa) Q=020.
8. Explain the objectives of Management Audit.
LTFEE S3B0ERGRoD NGie3nds AZdA.
9. Following is the financial statement of Viresh Ltd. for the year ended 31.12.2023

Statement of Profit and Loss

Particulras Note | Amount Total
I. Continuing operations
1. Revenue from operations 1 5,00,000
2. Other income 2 6,000 | 5,06,000
Total Revenue (A) 5,06,000
3. Expenses: I
Cost of materials consumed 3 2,93,000
Employees benefit cost 4 5,000
Finance cost 5 7,000
Other expenses 6 | 1,17,000 | 4,22,000
Total Expenses | 4,22,000
Profit (A - B) 84,000
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Notes to Accounts:

Note-1

Note-2

Note-3

Note-4

Note-5

Note-6

Revenue from operations:
Sales
Revenue from operatiions
Other incomes:
Interest on securities
Dividend on shares
Profit on sale of shares
Other incomes
Cost of materials consumed:
Opening stock of materials
Add: Purchase of materials

Less: Closing stock of materials
Cost of materials consumed
Employees benefit cost:
Wages
Employees benefit cost
Finance cost:
Financial expenses
Total finance cost
Other expenses
Carriage
Administrative expenses
Selling expenses
Loss on sale of fixed assets
Provision for legal suit

Total other expenses

QP. Code: 48143

1,500
3,750
750

—

5,00,000
5,00,000

1,500
3,750
750

6,000
76,250
3,15,250
3,91,500
98,500

2,93,000

5,000

5,000

7,000

7,000

2,000
1,01,000
12,000
350

1,650

1,17,000

You are required to calculate : (i) Gross profit ratio (ii) Net profit ratio (iii) Operating profit
ratio (iv) Operating cost ratio and (v) Stock turnover ratio.

o0¢ez g0, ©.0=50 Dm0 31.12.20238 o3 3y IFNE Bevdnd 30N 81 EYNT03.
B SR0HT) SHOY B SYNT SHTINEY FoRLRD.
(i) i3y, ooym svaed (i) 35Y o3 T3 (i) PRRFETRD oi3n Vs
(iv) socimrtidrod S sRomd 23 (V) d9), ¥33rs ohand

Sy I TD Bewdnd
L0 B3 On. | td), Oe.
| Zxomaon soodnriorne:

1. mohr tSuidnvon o &mud 1 5,00,000

2. 330 emoned 2 6,000| 5,06,000
Wiy, smed (A) 5,06,000

3. e

LR TR TS 3 2,93.000

—
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S P800 83369@86 m,

10.

4 5,000
TLOTOAT a't.li’ 5 7,000
S0 anNDEN 6 117,000 4,22,000
W, DY (B) 4,22,000
o3 (A-B) 84,000
23 L3 e3riedy:
BRUE 1 BEREOHERYISE 008 Smoh
WplepiX) 5,00,000
OO WBOBRYOE 2008 S0 5,00,000
ANWN 2 33T Smodn
pATAfC) 2ZNY S0edI e 1,500 1,500
Beon¥ S0edT 3003 3,750 3,750
BANY SR08T O oot 750 750
230 &0 6,000
ARUR 3 WYRT IRY 323
[RINY T,0008 dew, 76,250
BRRR: NDODRHT TR 3,15,250
3,91,500
BY0WD: TRINT BO3T e, 98,500
WIRSVT RN 523 2,93,000
RPUS 4 T¥OT VRBROF, P, __
3R 5,000
T9B00 VBT, T, 5,000
RAUS 5 BITOAT HY
TEOTOAT SR 7,000
BEOTOLT 3 7,000
ZAWS 6 2308 DDA -
ToMedd DWW 2,000
Slaleplel dz.grieéa 1,01,000
plentXinj szgrwa 12,000
ATOANY 20eOT T 350
BRZ BITIE, INDOIRTTY 1,650
Q38 DN 1,17,000

Following are the Balance Sheets of Shalini Ltd. on 31.03.2022 and 31.03.2023

Capital and Liabilities

Share capital

Profit and Loss Account
10% Debentures
Creditors

RDD

Total

31.03.2022 | 31.03.2023
3,00,000 3,20,000
40,000 50,000
50,000 30,000
40,000 50,000
4,000 5.000
4,34,000 4,55,000
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Assels:' 40,000 20,000
' an tand uilding 2 00,000 1,80,000
65,0
Cash at Bank 54,000 o
Total 4,34,000 | 4,55,000
Additional information:
a)  Dividend paid during the year 2023 was Rs. 20,000
b)  Land purchased was Rs. 40,000
c)  Goodwill written off Rs. 20,000
d)  Debentures of Rs. 20,000 were redeemed during the year 2023.
Prepare cash flow statement as per Indirect Method (AS -7)
FvTR 80, O, 350 DT0E 31.03.2022 3y 31.03.2023000 FZTd F03B) BREMOBNY
_Elcjéém‘o & EY¥NT023.
LEoned 31.03.2022 | 31.03.2023
I wodmd &3) TrmmoEn:
3esd OBV 3,00,000 3,20,000
oY W I 03 40,000 50,000
10% G23o03sonsh 50,000 30,000
TOTEVTT 40,000 50,000
Soc.0.0. 4,000 5,000
L) 4,34,000 4,55,000
1. sane:
et e 40,000 20,000
LR P B3 TR 80,000 1,20,000
ToRRRIND 2,00,000 180,000
TOOMTOY 60,000 70,000
LR eIROTT &N 54,000 65,000
Wi, 4,34,000 4,55,000
SECTION-D 2w - &
Case study - Compulsory Question. (2x10=20)

TBON U oNE - e Y

11.

Following is the Profit and Loss account of Raj Mohan Ltd. for the year ended 31 March

(¥ Scanned with OKEN Scanner

Particulars 2021-22 | 2022-23

, — (Rs.) (Rs.)
Sales 10,00,000 |14,00,000

Less: Purchases 3,00,000 | 5,60,000

Wages 1,00,000 | 1,40,000




Factory expenses
Gross profit

Less: Office expenses
Selling expenses
Depreciation
Interest

Net Profit

QP. Code: 48143

~1,00,000 | 70,000
5,00,000 | 6,30,000
80,000 | 70,000

60,000 56,000
30,000 28,000
30,000 28,000
3,00,000 | 4,48,000

(i) Prepare a common size profit and loss account for the given data.

(i) Determine the profitability of the concern.

(iii) What is the overall performance of the company during 2022-23 as compared to

2021-22
ouEHAES® 20. O.030 D908 31.03.2022 H3) 238 ooy o) IFNY Tevdnd 3Ln &
3908303%.

QRN 2021-22 2022-23
(Bn.) (Srn.)

EiplentX) 10,00,000 | 14,00,000
B9 0N 3,00,000 | 5,60,000
3RO 1,00,000 1,40,000
TOLTE S SN 1,00,000 70,000

203, &% 5,00,000 | 6,30,000

3 geieD [unwd 80,000 70,000
BT S 60,000 56,000

ARTY 30,000 28,000

wg 30,000 28,000

?Dajf} oy 3,00,000 4,48,000

(i) oo 3 IFNY R, MIT ILnea) SPOAD.
(i) 30T SLITONTI0N,, FOTIELBOWD.

(i) S="F 2021-228, BRedmN I 2022-230Y FoTID WiR,T F0FF TSI

B0RELROWD BT HTOD.

=<
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Reg. No. L[

Sixth Semester B.Com.(NEP) Degree Examination,
August/September, 2024
(Regular)
COMMERCE

Paper (DSC I) Advanced Financial Management
Max. Marks : 60

Time : 2 Hrs

Instructions to Candidates:

1. Answer all the section according to internal choice.
2. Simple calculators are allowed

3. Section D case study is compulsory.

SECTION-A
1. Answer any FIVE of the following. (5x2=10)
a) Whatis Cost of Capital?
b) What is Capital Structure?
c) Whatis Redeemable debt?
d) Mention theories of Capital structure.
e) What do you mean by Dividend?
fy  Give the meaning of Merger.
g) Define Ethics.
SECTION - B
Answer any THREE of the following. (3x5=15)

2. Explain the advantages of business ethics.

3. P Co. Ltd. issued 40,000 10% preference shares of Rs. 100 each. The cost of issue 2%. Find
out cost of preference shares capital if
a) Issued at premium 10%
b) Issued at discount 5%
c) Issued at par

4. A company has annual net operating income of Rs. 3,60,000. The company has
Rs. 14,00,000 12% debentures. The overall cost of the capital of the company is 14%. What
would be the value of the company?

5. Narayan Ltd. uses the certainty equivalent approach in the evolution of risk investments. The
capital budgeting department has processed the following intimation regarding to new project.
Cost of initial investment Rs. 1,50,000 cash flows after tax but before depreciation.

Year Cash inflows Certainty equivalent coefficient
1 1,20,000 0.8
2 1,05,000 0.7
3 97,500 0.6
4 90,000 0.4
5 60,000 0.3
1
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The company's riskless rate of interest on Government securities in the market is 6% and risk
- free rate of interest is 6% should the project is accepted?
Dispount factor is as follows:

Year 1 2 3 4 5

P.V. factor at 6% 0.943 0.890 0.840 0.792 0.747
6.  Explain the MM approach on dividend policy.
SECTION-C

Answer any TWO of the following.

(2x10=20)

7. Calculate the cost of debt for each of the following situation.
(i) Bond sold at premium of 10%, flotation cost is 5% of issue price.
(i)  Bond sold at 5% discount and flotation cost is 5%
Assume coupon rate is 15%, value of debenture is Rs. 100, maturity period is 10 years, tax
rate 35%.

8. The firms 'P' and 'Q" are identical in all respects including risk factor except for debt equity mix
firm 'P' has issued 10% debenture of Rs. 12,50,000. While 'Q' has issued only equity. Both the
firms earn 30% before interest and taxes on their total assets of Rs. 12,50,000.

Assuming a tax rate of 50% and capitalization rate of 20% for all equity company.
You are required to compute the value of the two firms assuming.

a) Net income approach.

b) Net operating income approach.

9. Explain the advantages and disadvantages of mergers and acquisitions.

10. Two mutually exclusive investment proposal is being consider, the investment Rs. 70,000 in
each project. The following information.

Year Project P Project Q
Cash in flows Probability Cash in flows Probability
1 40,000 0.1 50,000 0.2
2 75,000 0.6 50,000 0.2
3 90,000 0.1 75,000 0.4
4 80,000 0.1 60,000 0.1
5 50,000 0.1 60,000 0.1
SECTION-D
' Case Study - Compulsory Question. (1x15=15)

11. Company belongs to risk class for that the appropriate capitalisation is 10%. It has 25,000
shares outstanding and selling at Rs. 100 each. The firm's expected earnings available to
shareholders are Rs. 60,000 and it has an investment proposal costing Rs. 80,000. The firmis
contemplating the declaration of Rs. 14 dividend at the end of current f
M-M assumptions you are required to compute value of firm when
a)  When dividends are declared.

b)  When dividend are not declared.

inancial year. Assuming

* k Kk
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(Regular)
COMMERCE
Paper (DSC 1) Advanced Financial Managemen
Time : 2 Hrs Max
QNN &

—

BN 2T Z3nOR 3o,

LOBTY %, Q0TTeRD?

WOBTRYT BUE Q0mTesd?
BEDBRYWTT HOTI R 205Bed?
WOTTY T3N3 ATROBNTT) BYRD.
SOLROZ DOTTE?

DO DOTBERN?

3,233003), TAPID.

O T D
N N

D

Q.
S N S

«a =
-

PN W
3YNE DAt ZZRVR ¢03020.
2. BIRTTRY $,83303 B,0SReEINERY HZOXR.
3. 80xR030 40,000 B0 100 TR, w0 L3S0 10% =9,37,3 SeonERY AeRTIHE. 2
B3 2% SNCIZT. BINTINYRY, ricoznt SRTHER0R 37,3 BeTons [InT, F0RHARR
a) 10% 360030 LSt JepdTN
b) 5% dosmone 3SR dckmn
C) RoDBSK dekman

4. BOTAO tAF T O3V LWITFON B0 BR. 3,60,000. 3033030 12% OTI N 8w. 1
FOTROD LtF),0 WoreY 523 14%.30TBROD mmssgozo zﬁdo&:a&a F0RILOWD.

5. SO0 B0 ALV RAGEEH B, oIS TRBIBY DI AR ORIV W
WIS QN SO 03ReSehR), SRR, B Bersw St ds. 1,50,000.

301103 F03VT TR ARFPN0Z R00230 INT) BOF) B 3$AT083.

Year Cash inflows Certainty equivalent coefficient
1 1,20,000 0.8
2 1,05,000 0.7
3 97,500 ' 0.6
4 90,000 0.4
5 - 60,000 B 0.3
3
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oy P ——— d B nd gl o A Oy et e d Of Pasds ot ol P oad gd =d T il ol s AN
L0 Lodmd [INY VTR0t WAEOS) 6% 5 .23 LY 2P0 Hh ok ’
‘ :

Oodmoled ©o3 (Discounting Factor)

“Year *VWJV 1 2 3 Aiﬂfs
P.V. factor at 6% 0.943 0.890 I 0.840 0.792 0.747

N m ey s — a e Y oy e ol wd ~ o - -t 2 ]
OFRC BTNWNTWS LATOTN 828 6% 5, ;.‘Jhl‘:l Y
¢ - -

L]
At b Nl A
-j‘«af*&%bos’\l -

Q0
2 »
3,

MM 8 oS

8¢N8 eme SUds IR o302, (2x10=20)
7. 8¢NT xpEesnen ZowoRAnod mez3dny ST 80aeRONO.
(i) 10% 808 80, 5% el :.é’
(i) 5% Doinoie &8 s 5% deddod St
ERETTTO15%, meIIne ::5336100 DR LOII MY DHHI 8RO B (10) SFFAvNG, 80T
35% 30Mo Rclany Brodd. -

8. P =2 Qeozand wozme dutoha Ss03a 23 120D 2R3, 898 30 $03ned wott SN,
P goznei 10% =02 Sazme 12,50,0001% meI3ndd 2ead. 9ud Q 5o N0 HERT,
BeOonvEy RedRHT0 200030 LOBHYRT 8ReReS0AT.

SO goZane 30t A YT, Toou STHETT, TOTADL GAD SRS 30% T, TOTRMY BACH
S0 12,50,000 Srzmonnie.
0 20M ©O 50% w3 WodmReITna To 20% (MRPT, B:0m0 FoI)
BENT Ampo3nv Lot AN BoTRDh SPQR 30=0RM0.
(a) NI ATROZ
(b)  NOI az03

9. 20 Iy WMHIE EHELLINY TR BHRERINYRY HTOD.

10. Q0B H0%,0 THREE FMIINVSY &,30300m ImIFch BRREH S/, 70,000 SHTER
ATNDD, §9NT SR 0DE) 0L BT B TTH00T, 3920,

Year Project P Project Q
Cashin flows Probability Cash in flows Probability

1 40,000 0.1 50,000 0.2

2 75,000 0.6 50,000 0.2

3 90,000 0.1 75,000 0.4

-4 80,000 0.1 60,000 0.1

5 50,000 0.1 60,000 0.1

EALIvEY g et

ZECrH BRohs - Bmed B3 : (1x15=15)
11, A gomed: Zegmn $moeka Snee, £e00: 8030 WoBmveddn od 10% ShE. =393 100 oa.

0:0t308 25,000 Sedhriv B008. 80I0L Se0m00 R0 YIREHT) 6,00,000 CHTLNLTD,
00 makEch FxpTEed Ht3 8,00,000 Samciinieh 30300 Bx8 ZHr T 8471 14% oormod wohRIs.
MM ©233n¥e), S0 8030 P9, oD,

(@) eoormezs Rcaoon

(b) oormoBRR derd chTont
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Sixth Semester B.Com.(NEP) Degree Examination,
Auguslt/September, 2024
(Regular)
COMMERCE
Income Tax Law & Practice - 11

Time : 2 Hrs Max. Marks : 60

Instructions to Candidates:

1. Simple calculators are allowed

2. Answer all questions according to internal choice.
3. Section D case study is compulsory.

SECTION - A
1. Answer any FIVE of the following questions. (5x2=10)
a) Give any two examples of Professional income of a medical practitioner.
b) What do you mean by tax free commercial securities?
c) What do you mean by long term capital gain?
State the rules for set off of long term capital loss.
Give four examples of income taxable under the head income from other sources.
What do you mean by E-Filing?
g) How do you treat bad debts recovered?

SECTION - B
Answer any THREE of the following questions. (3x5=15)
2. Explain the types of Assessment.
3. State with the reasons the admissibility or otherwise of the following in computing the
income from business.
a) Embezzlement of cash by an employee
b) Reserve for doubtful debts
c) Asum of money spent for maintaining the reputation of business
d) Penalty paid to customs authority in connection with importing of prohibited goods.
e) Compensation paid to an employee for termination of his service in the interest of
business.
4. From the following information compute the taxable income from other sources of
Mr. Abhishek for the previous year 2022-23.
a) Director's fees Rs. 1,000
b) Income from agriculture in Bangalore Rs. 25,000
c) Agolden chain found lying in the railway platform  Rs. 30,000

O QO
— S

—
S—

1
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d) Rent from vacant land in Hubli Rs. 20,000

e) Winnings from horse race (gross) 1 Rs. 9,000
{) Interest from tax-free debentures of X CIO. gl Rs. 7,000
g) Rs. 10,000, 7% capital investment bonads As. 8,000

. i> } ;t \.‘/i“] \_)I),l

5. From the following information compute

Year 2023-24.
Particulars Jewellery

Year of Purchase 1 995'92
Year of sale 2022-2025
Cost of purchase Rs.1,00,000
Fair market value on 1-4-2021  RS. 1,560,000

Rs.10,000

Selling expenses
Selling price

Miss Srushti has purchased a residenti
index for the year 2001-2002 & 2022-2

owning any other residential house On the
e and losses calculate the Gross Total Income

he Assessment Year 2023-24.
Rs. 90,000
Rs. 60,000

Rs. 1,00,000
Rs. 1,00,000

Rs. 10,11,000 )
al house costing Rs. 5,00,500. The cost inflation

3 were 100 and 331 respectively. She was not

date of sale.

6. From the following particulars of incom
of Mr. Suresh after set off of losses for t

a) Income from letout property

b) Loss from self occupied property

c) Profit from speculative business

d) Loss from non-speculative business

e) Income from interest on securities Rs. 2,50,000
f) Short term capital gain Rs. 2,50,000
g) Long term capital gain Rs. 2,10,000
h) Long term capital loss Rs. 60,000
SECTION-C

Answer any TWO of the following. (2x10=20)

7. Write a short note on following:
a)  Permanent Account Number
b)  Income Tax Authorities

8. The following is the profit & loss account of a merchant for the previous year 2022-23.
Compute his income from business for the assessment year 2023-24.

Rs. Rs.
To Office salaries 26,000 | By Gross profit 1,20,000
To Proprietor's salgry 15,000 | By Profit on sale of car 25,000
To Interest on capital 5,000 | By Bad debts recovered |

, (not allowed earlier) 5,000
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To  General expenses 17,000| By Interest on securities 3,500
To  Advertisement 4,700| By Dividend from Indian
To  Depreciation 5,000 company 3,700
To  Provision for bad deblts 6,000
To Income tax 4,000
To Donation 2,500
To Car expenses 2,000
To Life Insurance (self) 6,000
To  Net Profit 64,000
1,57,200 1,57,200

Additional information:

1) General expenses include Rs. 4,000 spent for laying electric cables for generator.

2)  Depreciation allowables as per It rules Rs. 4,000 (for business)

3)  Office salaries include:
a) Gift to daughter on her birthday Rs. 2,500 and
b) Travelling expenses for personal purpose Rs. 3000

Mr. Vijay has furnished the following details of his income for the previous year 2022-23.

a) Rs. 80,000 per month salary as a member of parliament.
b)  Income from agricultural land in Srilanka Rs. 42,000.
c) Dividend on shares of a foreign company Rs. 25,000

d)  Dividend of Rs. 60,000 on shares of ACC Ltd. (Associate cement company Ltd.)

e)  Ground rent of Rs. 40,000 on mining land.

f) Winnings from lotteries Rs. 14,000 (net)

He also invested in the following:

(i)  Rs. 50,000 7% capital investment bonds of Government.
(i)  Rs. 40,000 10% Karnataka Government bonds.

(i) Rs. 36,000 10% tax free commercial securities (not listed)
(iv) Rs. 20,000 18% tax free debentures of 'A’ Co. Ltd. (listed)
He claims the following expenses:

1) Interest on loan on purchasing securities Rs.
2) Interest collection charges paid to Banker Rs.
3)  Expenses incurred for purchasing lottery tickets Rs.

Compute his income from other sources for the assessment year 2023-24.

4,000
500
1,100

From the following particulars furnished by Miss Khushi compute her total income and

tax liability for the assessment year 2023-24

a) Income from salary Rs. 3,80,000

b)  Income from house property Rs. 80000

c) Income from oil business Rs. 1,20,000

d)  Loss from cloth business Rs. 30,000
3
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€)  Long term capital gain Rs. 80,000
f) Short term capital gain Rs. 30,000
g)  Income from other sources Rs. 1,80,000

(includes winning from lottery Rs. 100,000)
h)  Herinvestments & payment during the year
Life insurance premium (self) paid Rs. 20,000
Contribution to public provident found Rs. 10,000
Donation to PM Nation relief fund Rs. 15,000
i) Assume that she has not opted to be taxed u/s 115 BAC and her age is 24 yegrg

| SECTION - D
Compulsory (Case Study) (1x15=15)

Mr. Anand of Bengaluru furnishes the following information for the previous year 2022.
23 in connection with a capital asset.

Year of purchase 2004-05
Cost of purchase Rs. 2,26,000
Year of sale 2022-2023
Selling expenses Rs. 12,000
Selling price Rs. 13,74,000

He purchased new residential house for Rs. 6,81,000 on 1.3.2021. The cost inflation
index for the previous year 2004-05 = 113 & 2022-23 = 331.

Questions:

a) Compute the taxable capital gain for the assessment year 2023-24.
(i) If the capital asset sold is residential building
(i) If the capital asset sold are shares
(iii) If the capital asset sold are listed debentures

b)  State the reasons for getting different taxable long term capital gains for the above
mentioned assets sold.

* % %
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COMMERCE

Income Tax Law & Practice - i1
Max. Marks 60

Time : 2 Hrs
Instructions 1o Candidates:

1. Simple calculators are allowed
2. Answer all questions according 1o internal choice.

3. Section D case study is compulsory.

SRR - &
(5%2=10)

c) DTl WoreRs oo H0TBe?
—_— Do =t 108 =2t
d) Ozl wordmmy THRMYRY, BRI aohIngaEy, ®BeF0.

d — 3= -2 0™
g) I ALY SRR bearoirond 3011 LEBRT &DODéQﬁmOﬁDﬁv ICRHBOBN T, BEP0.

2o emT SR00 BIBRIR L0, (3x5=15)

2. BOoBCR0D LERYEy HR0A.

3 O-—-‘\

3. S¢NT QTN 830308 w0 TROT BTIONTY, 20RO OZYNTTY, DWFNYOT
ZOReITLIeE BT A DOWTT, 9.
a) =P8800T BEITTY, OBLRONAT
b) go@E mone QRN
C) IOT B BTN ), TRED TRBT DE
d) sz=F sHZORYN Tk 3T
e) =Zosoan SR peT BevTIn B0T0 FE BALIT),

4. (@t epRegoRo 8 TYN BP0y, NTSRENZEH0RE BTITOBOD ST 2022-233 33T
Zsponeos NEAT STRIDTE STRT =RkD.
a) ACFEZE0 EW gn. 1,000
b) ionER0RE NEAT g ST gn. 25,000
C) G, %egaRd 48, 10mos AESY gn. 30,000
d) @rgoh Do wineRT wbn gn. 20,000
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h) %es® t08s ehoa%e’o dewrérw 30O 2Q on.
B B [T 8 89T QT SnL2033038, 80030 SR

T30,

NI 223069
00D T 1995-96
IR TRE 2022-2023
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20,000
9,000
7,000
8,000

SFE 2023-2438, WOTTRYT LNV, O,

. 3 6T ANOT OBEHE AT IR, 8. 5,00,5008, HDOBATRT. B3¢ TTOK
AR08 iR TFE 2001-02 w3y 2022-238, G Fowwn 100 T3 331 AHIW. [0S

Cb-boscsod; AT WIRFTIE AT FE BRODTRHOL.

T ETYNT S0 TN TIRYOR 2023-240 20808 SR, TANTTY BRODAT T03T

6.
&¢ RBeB BT i), TOSPIIT), &8, To20.
a) wwoenr 8083 THF0N0T OB ITRPT oR.
b) =038 %8, LoTo3ReAIT FI0WOT BT TR TA.
C) Atm), CL3 FTHOH0E 83 H0 on.
d) =t 03 FRTIVL0T 29083 ©o23 dn.
e) Tz IInY Soed 2o WY oa.
f) ©RTD woBmS o3 8.
g) QeFrSD WORBTY ©o3 oR.
h) Qer=d WoBTY TR oR.

QN -

BoNE Lot QR B, 3ROn wo3da.

7. &5 39NT QRO1PA T} 85363 LT000.
a) Permanent Account Number
b) swmod 301t ¥HTONRY

8.

90,000
60,000
1,00,000
1,00,000
2,50,000
2,50,000
2,10,000
60,000

(2x10=20)

WL, TFR00N SRFE Fur 2022-238 85 §YNT o013 T3 T 330 Sz B, eRTZT. 85
cle] crﬁdr’ THF 2023-240 STT000 SIS S8, TR0.

BegeD SeSRned 26,000 | 23 o3 1,20,000
=neg0 Se33 15,000 | &m0 50 ook oo 25,000
(208 ¥ZHe2L) 5,000
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T, TFeIriehd 17,000 | tic@ S350 Wiy 3,500
@Z&oﬁm A 4,700 | 3203¢035 80T CoLn03 3,700
AREY 5,000
SNHAE WOT SFA 6,000
B3 30 4,000
Serdnt 2,500
ToOF S 2,000
ST g0 (x038) 6,000
ey SO 64,000
o 1,57,200 1,57,200
HEE0 SR
1)  wIRE EEng BRteo A53° 0o HmEw Db SRRE) de. 4,000
2)  smod 308 ARRSm0 % 5 0R. 4,000 ¥ZH3AT) (ss:-ws 20WORATI
3) #5500 SR [PYnYEy wYRRoRE:
a) =non wordd wE OI0 AW gr. 2,500
b) Zoude SIneer Dudbenshd gn. 3,000
Gt 200 B0 2022-230 Srned S 3, Z0W0DAT SOSPIE DTORYD 81 8¥NT03 EL3 TR,

a) oroouzs TTEoN BB Fe3T R, 80,000 3,3 doniwnt

b) &rrottid g 2Auscod worko3m SoSRS 8. 42,000

¢33 Jeoony S2¢8 Loro3® CRyRo3 8w, 25,000

d) ©lnecacdeis® Az30083¢ a.u:ms E0TL0WOT WOB03® ©LT03 8R. 60,000
e) nedod Xevmeh Womed® wWe wkn 8. 40,000

f)  oou0z Sed wod otf 8. 14,000 ()

REO B EYNTZYNVO BroTTy SAENAGRT:

()  ©82.50,000-7% dé 2008 LoEme Sacinesd MOBTINWD.

() ©».40,000-10% !5"3?.35 DOBI

(il)) ©R. 36,000 - 10% 8T DTN BRODT BoBIH WOTI R (SLOTHONAT) |
(Iv) ©x. 20000 - 18% 88 HB08 BLOOT BT WOTI N (FLOTOWAT)
R0 84 SUNT Servsy SRRmC.

1)  OIZNI BRYL IR0 RO 0D e on. 4,000
2) 0B TIXe DubrF R0 EAL T on. 500
3)  ©ou0 uET ST SRR Db gn. 1,100

D=0 BFO Foe RONLOmNE SmhEE, S8, Todd.
goosoreDh I 2023-248, BORR0 D 8 BUR 0T VBT BHOZA, ATY

x|
SO0D Tone Yok :éoﬁad:"‘ €8, T0e0.
a) JeInbon wod emed gna. 3,80,000
b) badcd eycien U ge. 80000
c) oFf mmeod ooy ga.. 1,20,000
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d) r..‘ti zaﬁ-.‘-.‘bd:i ] on. 30,000
e) QTFrSD oY ool on. 80,000
f) SRR LoBdY Tyl oR. 30,000
Q) 330 Seony LEod or. 1,80,000
(oor300Rd rig ©meed 8. 100,000 %:053)
h) &3¢ 3208 ns Zomansh
el QoD god on. 20,000
TOTFWAT LWOH AN Rl on. 10,000
TR F08, o, SO0 AR T on. 15,000
) BISAFTY wSEuls 115 BAC oy 50, SRR @mns uSs Sy 24 SHFmhs.
PN -8
el 3 (ZE0r $gehr) (1x15=15)

wonendE BE0T 2022-233 Smedh SHFE, BoWOHIT Swlos0dy (LoD WOBTRY SN
ToWoRAT0Z) &5 E¥n=o3 (Folxkapled

200 J&F 2004-05
200e0 ;':.;’ on. 2,26,000
=0T =&@F 2022-2023
SR04 g on. 12,000
SRoIT DWF on. 13,74,000

ST oM THT AT DD T8 1-3-202180m Be. 6,81,0007F DO0eDATRT. 13
ZRuR08 Fe3m) 2004-05 STES, 113 3y 2022-23 SR, 331.
ZIried:
a) 2023-24 g0o30R0D IHFE, 3077 LYTRRWTIEIT WOBTY TOLTTY BOBLBOWD.
(i) 200 Fed TPOT WORTRYE SA0IN THIT ETTNTT
(i) 2.0 Fee TROT LOBTE S20IN SLOrOTINTT
(iii) 20T Fe¥ TPOT LOBTE SN FROTONAT HOTZNTONTT

b) & £ HT0AT TROLTE LANTATT 30N LYIRT DeFrTd WoBmY YD)
tded 3eC.
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Reg. No. [_’

Sixth Semester B.Com.(NEP) Degree Examination,
August/September, 2024

(Regular)
COMMERCE

Indian Accounting Standards - 2
Time : 2 Hrs Max. Marks : 60

Instructions to Candidates:

1. All section are compulsory.

2. Attempt all questions according to their internal choice
3. Section D is compulsory.

4. Simple calculator is allowed.

SECTION - A
1. Answer any FIVE of the following. (5x2=10)
a) What is holding company?
b)  What is non controlling interest?
c) Whatis earning for share as per AS33?
d) What do you mean by lease as per India AS 1167
e) What are the Financial Assets?
fy  What is Subsidiary?
g) Expand ICAI and IFRS.
SECTION -B
Answer any THREE of the following. (3x5=15)

2 What is interim financial report ? What are the disclosure requirements?

3. Briefly explain the recognition and measurement criteria for provisions as per
Ind AS 37

4. List out any six International Accounting Sandards issued by IASB.

5.  Sri Raghu Ltd., acquired 60% of equity shares in Raju Ltd. on 1.10.2023. The following
balances are extracted from the balance sheet of Raju Ltd. as on 31.03.2024:
(i) Share capital : 80000 Equity shares of Rs. 100 each fully paid.

(i) General Reserve on 1.4.2023 Rs. 1,60,000
(i) Profit and Loss A/c. (Credit) on 1.4.2023 Rs. 60,000
(iv) Net Profit for the year ended 31.03.2024 Rs. 1,20,000

Calculate cost of control.
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From the following details prepare other compre
31% March 2023 of Shyam Ltd.

Particulars

Profit for the year

Loss on property revaluation

Profit on investment in equity instruments

Available for sale financial assets

Gain on defined pension plans

Exchange difference on translating foreign operations
Cash flow hedges

Income tax relating to items that may be reclassified
Non-controlling interest

SECTION-C

Answer any TWO of the following.

7.
8.
9.

10.

Explain disclosure of Financial Instrument IND AS - 107.

QP. Code: 48144

Evaluate the requirements and disclosure of EPS under Ind. AS 33.
The statements of financial position of K Co. Ltd. as on 31.03.2024.

Liabilities

Share Capital:

Shares of Rs. 10 each

General Reserve on 1.4.2023
Profit and Loss A/c. on 1.4.2023
Profit for 2023-24

Accounts payable

Total

Assets:
Tangible fixed assets
Investments: (8000 shares of Rs. 20 each in M Co. Ltd.)
Accounts receivable
Other current assets
Total

K Co. Ltd. acquired the share of M Co. Ltd. on 1.08.2023.
From the above details calculate non-controlling interest.

hensive income for the year ended

Rs.

2,00,000

(-50,000)

60,000

30,000

30,000

48,000

(-10,000)

(-10,000)

98,000

(2x10=20)

K Co. Ltd. M Co. Ltd.
Rs. Rs.
4,00,000 1,00,000
1,00,000 40,000
60,000 15,000
2,40,000 2,00,000
40,000 20,000
8,40,000 3,75,000
3,90,000 1,40,000
1,60,000 -
2,40,000 1,60,000
50,000 75,000
8,40,000 3,75,000

Friends Company Ltd. acquired 6000 shares in Enemies company Ltd. on 1.11.2023.
The summarised financial position of the above two companies as on 31.03.2024 was

as under:
Liabilities
Rs.
Share capital
Shares of Rs. 100 each fully paid up 4,00,000

Friends Co. Ltd. Enemies Co. Ltd.

2,00,000
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Reserves on 1.4.2023
Profit and Loss Account
Current Liabilities

Assets

Total

Investment in real estate

Investment in shares of Enemies Co. Ltd.
Machinery

Current assets

Building

Total

QP. Code: 48144

20,000 30,000
1,00,000 80,000
70,000 60,000
5,90,000 3,70,000
50,000 80,000
2,00,000 -
1,50,000 90,000
22,000 20,000
1,68,000 1,80,000
5,90,000 3,70,000

Profit and Loss Account of Enemies Company Ltd. on 1.4.2023 was Rs. 30,000.
Calculate controlling interest and goodwill or capital reserve.

SECTION-D

Compulsory

(1x15=15)

H Ltd. purchased 8,000 shares of Rs. 10 each fully paid in the S Ltd. for Rs. 20 each on

1.102.2023. At the time of purchase of shares, buildings of S Ltd. were under valued
by Rs. 20,000/-.

The following were the Balance sheet of both the companies as on 31.03.2024.
Particulars

I.  Equity and Liabilities

1.

Shareholders fund
Share Capital
Reserve and Surplus
Current Liabilities:
Trade payables
Creditors

Total

II. Assets

1.

Non-current assets:

Tangible fixed assets

Non-current investments

Current Assets:

Inventories (Stock)

Trade Receivable (Debtors)

Cash and Cash equivalents (Cash)

Total

Note

1
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H Ltd. S Ltd.
200,000 1,00,000
1,20,000 60,000

30,000 40,000
3,50,000  2,00,000

60,000 74.000
1,60,000 ;

80,000 64,000

36,000 50,000

14,000 12,000
3,50,000 2,00,000
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Notes to Balance Sheet as on 31.03.2024

Note No. 1 :  Share Capital H Ltd. S Ltd.
Shares of Rs. 10 each 2,00,000 1,00,000
Total 2,00,000  1,00,000
Note No. 2: Reserve and Surplus
General Reserve 40,000 30,000
Profit Balance as on 1.4.2023 20,000 10,000
Profit for the year (2023-24) 60,000 20,000
Total 1,20,000 60,000
Note No.3: Tangible Fixed Assets:
Buildings 40,000 50,000
Machinery 20,000 24,000 J
Total 60,000 74,000 -3
Note No. 4 :  Non-current Investment:
Shares in S Ltd. 1,60,000 .
Total 1,60,000 -

The debtors of H Ltd. included Rs. 10,000 due from the 'S’ Ltd.
Prepare the consolidated Balance sheet on 31.03.2024.
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Sixth Semester B.Com.(NEP) Degree Examination,
August/September, 2024

(Regular)
COMMERCE

Indian Accounting Standards - 2
Time : 2 Hrs Max. Marks : 60

Instructions to Candidates:
1. All section are compulsory.

2. Attempt all questions according to their internal choice
3. Section D is compulsory.

4. Simple calculator is allowed.
PN - D
1. 3SASRINL Bemn oo, wo3puo. (5x2=10)
a) &HBETY BOT HoWTeN?
b) ©=3oHI) ACH0LIOTIFT 20BTe?
c) AS330 &m0 &3 3e03 nYs Howbesd?
d) Ind AS1160 &30 31t 20mded?
e) TOTAT SANY Q0TTeR?
f) eonzox orTesd>?
g) ICAI=3) IFRS &) HZ0RD.
QLN - W
21 3NIDPNTQ iemn SoRTE, YOIDAD. (3x5=15)
2. o300 BeosoRd FOO LoWTER? WLTCONTRRIDOD V=BFINd WRFHTH?
3. Ind AS37 O 3,500 “Qoexen’”’ mth3RDE SH3) ¥TT IR FPIToBRYR), o ZmoN LTOAD.

4.  ©0Z0UDLe03 S8, B0 F0EYN RERTE BRFRTEOH S0 ©030ad, S8, FTwean vy T
SRG.

5. £m008 1.10.2023003) 05 OBV T F0BR0I S¢. 600, Beodrie!ay D0OAE. Totwd
gomn0% OF08 31.03.20240 ©03 T ¥m IZO0T & §¥8od D[OVRY), BBHNT:
(i) Beo> worzd 8e. 1008 S L3S0 Fpée TRAT 80,000 Sedrish.
(i) D08 1.4.202380%> MRRF, A 8. 1,60,000
(iii) ©m08 1.4.2023d0m &t - FFT AR Te. 60,000
(iv) 08 31.03.2024 S=SIB AFE ootd Oe. 2,20,000

€L

f030g 0 Stima) SorkRAND.

& Scanned with OKEN Scanner



QP. Code: 48144

6. B 3YNT OBONP0T ;) OMBE'S 318¢ SWWF 20238, $ARR0T BHFE, A0 T,

BT, ATIRA.
2= 203 ()
S&rd, ool 2,00,000
8} HIPOINIIRY 37, (-50,000)
3313 NOTESENYOR BARED I 60,000
TETAT SANY SR0E, 0BT 30,000
TRIRATDT 203 cdRenInvOs ootd 30,000
RTed DWRFUORNY LIoZTHY DRI FZB 48,000
TN B0 BZET (-10,000)
0> SAFCBORNTmTE TAALT BOLORAT Smedd 301 (-10,000)
NOL0ZRRVT SR 98,000
PN - A
BEARIYNED CIRYTHTCHL S0 BBRVR w3p20. (2x10=20)

7. Ind AS1070 &50 ®rotazd mGEG WToNBRAINE 27} HTOR0.
8. Ind AS33 09 29AThE03 & Fe0x 13S0 ¥TZIINW T FIWINTTY, DBTIRA.
9. 3. g0=R0 T T oo HT00E 31.03.20240 w033 SHFE A3 315N

TREMOBN 30D QIIT 0T
oR. on.
e0d OB
(8n. 10 O <00 WSod mmag Seoonish) 4,00,000 1,00,000
87o0% 1.4.20230 mdmﬁb NI 1,00,000 40,000
H7o0% 1.4.20230 @3 aﬂaé, 60,000 15,000
2023.20240 ool 2,40,000 2,00,000
Fantitlevint g bhn) éﬁé 40,000 20,000
WD, 8,40,000 3,75,000
Eane:
AN 8,90,000  1,40,000
Za0Ene (=5 gomnes 200 8000 Secned) 1,60,000 -
2, EEORLITOET o8, 2,40,000 1,60,000
520 wmﬁmﬁa 50,000 75,000
M) 8,40,000 3,75,000

N

§. 8005 D008 01.08.202380m) 255° 30TV SedonYR) SEOT.
Taed LTONPon 203203 108, WYTRAT LTI, 0B LRCRD.

10. #Aglo BOTR0ID DTO0S 01.08.202300w> 32, oI 6000 éecbm?a'sg‘ D0DeAT. & QTEN
gomnry Lm0 31.03.202408 ©03, 70 Zo3FE SHFE A% & FYNT03 2033,

Zarmbine ek Bo. 83, 3o.
Ze0) LICETRY
(C. 100 Tha2) vi6 gneor TwEan) 4,00,000 2,00,000
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D08 01.04.20238 20

Al el o o0

20,000 30,000
':.‘l\.tr) .'-.A;\u \.45

N 1,00,000 £0,000
0 BLEmOERY

70,000 60,000
Wi 5,90,000 3,70,000
RS
Oolo® 2% 029 Band 50,000 80,000
D3, BTN Seunvd Band 2,00,000 -
CLo3 R eTBOMMY 1,50,000 90,000
LACIATIES 22,000 20,000
gL 1,68,000 1,80,000
(R LY 5,90,000 3,70,000
0720¥1.4.2023005 33, 8oznon D T da. 30,000 25003 LY, WTOTD VFT WoRHY
B0 LD,
2N -0
B B3, (1x15=15)

HS. S O. < 8000 3¢ ConYE) JReoF Komaehd Be. 10003 on. 208, D08 1.10.202300mH
2D0eAT, 3863!1%‘5 200D Kowed FUQS O.58w 33@NYE On. 20, 00003z, 80 :Sﬁobmwmﬂd.

& QO BoTANY ©5 B3,8nwh (31.03.2024) 81 89N=03 .

OEONED W3 Hosd, Ho. S 9.
[ Zedh woRmod Sy amtndN:
1. 3Becmdd =ony, 1 2,00,000 1,00,000
Bedh WO
QEXEL AR X ooyl 2 1,20,000 60,000
2. O mTRON:
BLBEen TR0 W
(mzo500) = 30,000 40,000
w2 3,50,000 2,00,000
1. eanes:
1. =) sun AN
Roedgmores QAN 3 60,000 74,000
g 00 TRRBNE 4 1,60,000 -
2. uoeAn®
omh (Xosoniel) - 80,000 64,000
e \riemaD 0 o (Fomdd:) - 36,000 50,000
g R -:nr A =R (Fns) - 14,000 12,000
RS 3,50,000 2,00,000
7
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H Ltd. S Ltd..
2,00,000 1,00,000
2,00,000 1,00,000
40,000 30,000
20,000 10,000
60,000 20,000
1,20,000 60,000
40,000 50,000
20,000 24,000
60,000 74,000
1,60,000 -
1,60,000 -
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Sixth Semester B.Com.(NEP) Degree Examination,
August/September, 2024

(Regular)
COMMERCE
Paper (DSC I) Advanced Financial Management
Time : 2 Hrs Max. Marks : 60

Instructions to Candidates:

1. Answer all the section according to internal choice.
2. Simple calculators are allowed

3. Section D case study is compulsory.

SECTION - A

1. Answer any FIVE of the following. (5x2=10)
a) Whatis Cost of Capital?
b) What is Capital Structure?
c) What s Redeemable debt?
d) Mention theones of Capital structure.
@)  What do you mean by Dividend?
f)  Give the meaning of Merger.
qg) Define Ethics,
SECTION-B
Answer any THREE of the following. (3x5=15)
2. Explain the advantages of business ethics.

3 PCo Ld issued 40,000 10% preference shares of Rs. 100 each. The cost of issue 2%. Find
out cost of preference shares capital if
a) Issued at premium 10%
b) Issued at discount 5%
¢) Issued at par
4 A company has annual net operating income of Rs. 3,60,000. The company has

Rs. 14,00,000 12°% debentures. The overall cost of the capital of the company is 14%. What
would be the value of the company?

5 Narayan Ltd. uses the certainty equivalent approach in the evolution of risk investments. The

capital budgeting depantment has processed the following intimation regarding to new project.
Cost of initial investment Rs. 1,50,000 cash flows after tax but before depreciation.,

Year | Cash inflows - Cenainty equivalent coefficient
1 1,20,000 | 08
2 1,05.000 ‘ 0.7
3 97,500 ' 0.6
4 90.000 ' 04
5 60,000 | 03
1
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The company's riskless rate of interest on Government securities in the market is 6% and risk
- free rate of interest is 6% should the project is accepted?
Discount factor is as follows:

Year 1 2 N 5 } 4 | 5
13 l ,'59.["’_“‘,5% 0943 **0’_'89_0 jh(')‘{mo ] 0792 | 0.747
6.  Explain the MM approach on dividend policy.
SECTION-C
Answer any TWO of the following. (2x10=20)

7. Calculate the cost of debt for each of the following situation.
(i) Bond sold at premium of 10%, flotation cost is 5% of issue price.
(i)  Bond sold at 5% discount and flotation cost is 5%
Assume coupon rate is 15%, value of debenture is Rs. 100, maturity period is 10 years, tax
rate 35%.

8. The firms 'P'and 'Q’ are identical in all respects including risk factor except for debt equity mix
firm 'P' has issued 10% debenture of Rs. 12,50,000. While 'Q" has issued only equity. Both the
firms earn 30% before interest and taxes on their total assets of Rs. 12,50,000.

Assuming a tax rate of 50% and capitalization rate of 20% for all equity company.
You are required to compute the value of the two firms assuming.

a) Net income approach.
b) Net operating income approach.

9. Explain the advantages and disadvantages of mergers and acquisitions.

10. Two mutually exclusive investment proposal is being consider, the investment Rs. 70,000 in
each project. The following information.

Year Project P Project Q
Cash in flows Probability Cash in flows Probability
1 40,000 0.1 50,000 0.2
2 75,000 0.6 50,000 0.2
3 90,000 0.1 75,000 0.4
4 80,000 0.1 60,000 0.1
5 50,000 0.1 60,000 0.1
SECTION-D
Case Study - Compulsory Question. (1x15=15)

11.  Company belongs to risk class for that the appropriate capitalisation is 10%. It has 25,000
shares outstanding and selling at Rs. 100 each. The firm's expected earnings available to
shareholders are Rs. 60,000 and it has an investment proposal costing Rs. 80,000. The firm is
contemplating the declaration of Rs. 14 dividend at the end of current financial year. Assuming
M-M assumptions you are required to compute value of firm when

a) When dividends are declared.

b) When dividend are not declared.
* % %
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Sixth Semester B.Com.(NEP) Degree Examination,
August/September, 2024

(Regular)
COMMERCE
Paper (DSC I) Advanced Financial Management
Time : 2 Hrs Max. Marks : 60
RN &
1. 8¢NS 2 B3RO 3o, (5x2=10)
a) oY Sty doxvery?
b) wozm¥R cus aogdemy?
C) SEELYUBE MOBI N 20QGems?
d) oz cedtod & 03MYR; 3920
€) oR0T Q0TBeRy?
f) 29 comdess?
g) =,28300R RA0.
RAWIN W

8NT 2ot ZIRVR woZoL0. (3x5=15)
2. SEE0nd 328303 3aineurnvsE H0L.
3. ©o=RCIN 40,000 B0 100 8. #0020 2580k 10% T2,8%,3 Sethniva FeRMIT. 10B3m¢ FeRS0DH

=3 2% SNTZT. SYNISHrvay et Srichdeomd my3x 1 Seoony SR BoR LRD.

a) 10% 200330 BSK dermon

b) 5% dosow2 3SR deamn

C) =DUSA denmn
4. EoTROD THLFT THOIRELITFEAD S50 8. 3,60,000. F0B030 12% MBI 8e. 14,00,000 WD,

SOTR0D 2AR,T 0BT 523, 14%. 50T RPTFE; 08 BSeHY BoRRND.
5.

TOTCHED OB RODIT) BRI B, 31T ARIJIZY AdIZeh AP DERTTE) WIRET WoRTY
LT QNs) BRK 03ReEH0RY dALZET. JFH Berded Hz3 8. 1,50,000.

S0riodh 20200 Tore ITEYNCS Sooded I BOF) S FPNF02a.

Year Cash inflows Certainty equivalent coefficient
1 1,20,000 0.8
2 1,05,000 0.7
3 97,500 0.6
4 90,000 0.4
5 60,000 0.3
3
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LEOED LoTmmy B NY Binedld WREOT) 6% 20 #7338 L5 Y 3300ED) torilleiO.
Otdmeied oz (Discounting Factor)

Year o _1M7 vﬁ—__2M ] 3 o _—‘T 5
|7 P.V. factor at 6% 0.943 0.890 0.840 0.792 0.747
BOTRCH $T010LI WRBOTA 8RR 6% AT, B3 e, W 0?
6. MM= ooz ATROITHY HTOA0.
PN B
BENE BT S0 ZEROR w3020, (2x10=20)
7. BYAT RRSeInen Zowoprmod musIny S35 30RbR00

(i) 10% &% 80, 5% o 5;.3:‘
(i) 5% D:&;::;:é &0 &ons 5% %eaé::o =,

e, ek s

LRTTTO15%, mom3ne 35 v8,100 =3y moagnd hthm=a v= ®33(10) SHFAFNTD, FOTAID

35% 30ric r::,:s:.::-‘,: w.f,:obr.:’,

8. P a3 > Q goTAINY wodsoy dzs""'*c-’.o TROTRY T, oD S, vn va'ssd vozndd 2,053¢ 30TN.

P Zoz03s 10% =03 damo® 12,50,000n% mozE, Ny 2R3, 8358 Q goITAD e TR,
"'chw"* 2eBT0 03T 2 ocz;wsm EneResdAs.

QT goTane 20N AedIos 03 00U S STRONTEY, TOTAH LACH Sr38 30% 303 BOTANY LA0H
wS0in 12,50,000 G.QEDO.DH"

=

¥oInod 201 38 50% TF) LoBETHYeBTT BT 20% (m;ma' Be0H TR0 Bo0ITA)
ECNE ATIROINYEY ema‘meM FoIAODH SR qsoceb&oaowo

(a) NIx 03

(b) NOI ATod

9. QO DI WOERT BRELLINW T VTDBRVINY) HTOAD.

10. 208 J0X0 THLEW IMIINID) I303000) FMTI BHREE £43, 70,000 LT
n%hdi. B9NT Sk 50331\.0 350!\3 MEE dmwruwa?‘éﬁpgao.

Year Project P Project Q
Cash in flows Probability Cash in flows Probability

1 40,000 0.1 50,000 0.2

2 75,000 0.6 50,000 0.2

3 90,000 0.1 75,000 0.4

-4 80,000 0.1 60,000 0.1

5 50,000 0.1 60,000 0.1

N B

TEOr GROLE - Bk B3, (1x15=15)
1. A gomRei ZR8mE Smohd e, Z:00) SoR0h wodmEdn 58 10% UAT. B2803 100 dx,

=n0eiCeD 25,000 2¢ Uyﬁurmuﬂ?:&d doznch Sechmodd 2 ¢3 ST 6,00,000 SrTRVD,
o0 mekEch FuEon i3 8,00,000 dameeierish g030D :S*‘ﬁ A 8adn 14% cano3 uo&noe_&,d.

MM 0z2ne; ©p0 gomaeh SR TR sorhblald.

- iy, P\ o ) g
(@) ooz
— L
(b) oomeE=: ,:_e..:::’ it
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Regq. No. r ‘

Sixth Semester B.Com. (NEP Regular) Degree Examination,
August / September, 2024

COMMERCE

Paper : Investment Management

Time : 2 Hrs

Instructions: Zausnds:

1)

2)

3)

Answer all the sections according to Internal choice.
0308 sodyizribeosnn S 3n9N 30X,

Use simple calculator is allowed.

KUY 80,80 E) 8TIINT.

Section-D Case Study is compulsory.

800 85T (rnn-2) I3 mohmhth3s.
SECTION - Aawon -2

Answer any FIVE of the following.

viems ©TE, Y300,

a. Whatis Investment ?
DRNE oTBe ?

b.  Write any two objectives of fundamental analysis.
RN O QTR YUCeBRYE) WIND.

c. Define Risk.
ST L0 TR0,

d. What is Portfolio Management ?
SperxrPnedodne ARFEE Q088D ?

e. Give any four examples of Capital Market Securities.

Lodne aimcbﬁ% z;'@éri'é W, emmzﬁdﬁﬂ'éa‘g* 8R00.
f. Define Bonds.
oI, IR0,

g. Whatis Money Market ?7
mees Sedoe] ondeh ?

Max. Marks : 60

(5x2=10)
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SECTION - B suvnt -

1. Answer any THREE of the following. (3x5=15)
demd Soath 23RO w3dLD,
2. Write the difference between Investment and Speculation.
TARE Iy TR, VBT :w-,m 9, L2000,

Explain the advantages of Bonds.

- - o dd oy
50003 T BERVINYTY HTDAD.

-

w

4.  Write a short notes on:
a) Index Fund
b) Open - ended Mutual Fund

pa= . ~S N

(S L?::L{*f WOLR0:

- -t

Q)  IAEOED

. —_—

Q) LITTR0 c-:s RIS Joa®s

[)
5. Explain the objectives of Portfolio Management.
SpestrEdnedodne ARFBEBOD NGeBNIY HTOA.

6.  The return on securities X and Y are given below:

Probability Security A Security B
0.5 4 0
0.4 2 3
0.1 0 3

Give the security of your preference. The security has to be selected on the basis
of return and risk.

X233 Y 358,3n¢ e 8mods) & 89NSod !

zoEneodd woga wodw
0.5 4 0
0.4 2 3
0.1 0 3
AT, BT I L BoNT) deB. DBITTF T 0%, SHo0T 2dee 135,30 Sl Sni.
SECTION - C &»n -
I1I. Answer any TWO of the following. (2x10=20)
s QORE, LZO20.

7. Discuss the different investment avenues available to the investors.
BAREROON OFACT QDG BARE INNFA / AENYR) w8ur20.
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Explain the role of economic factors in fundamental analysis.

8.
rond HPtdrol uhre ¥oInY mdND, H50A0.
: : . 1ans | in it.
0. Define Portfolio Management Process and explain the steps involved i

;j,—j)t &3040,

2 ot xbe =Ane AL Ay e nd o - 5t 2 Annatdys HOT
perstradneOodne @ 8,030 5983 800 SHd) ¥a LINA0RT xo3n
- - LU ) -

its anticipated returns and

10. Mr. Sawant invested in Equity shares of Drydock Ltd.
associated probabilities are given below:

Returns (%) | 45 | 10 | 5
J"?rbbabuity | 005 | 010 | 0.15
You are requested to calculate rate of return and risk in terms of Standard Deviation.
3, ozt G’ OLUET S8 FnYO Bens FRRmY. A0S S s HowolS
mopERecdod 1 89R ReBoNG:
a0y umel (%) | -15 -10 5 10 15 20 | 30
nogsnecsd 0.05 | 010 | 015 | 0.25 | 0.30 | 0.10 | 0.05
2 =nrid HchoRs AREHES R A0 Ymah ¥ IFHEHE BTN, g0 R0W0.

SECTION - D 2tri - &

Compulsory Question. (1x15=15)

gmeds 23,
11. Case Study:

The expected rate of return of Alpha and Beta scripts are given below:

Probability Return of Alpha Return of Beta

0.05 -2 -3
0.20 9 6

0.50 12 11
0.20 15 14
0.05 26 19

a) Find out the expected rate of return of Alpha and Beta.
b) If the investor invests equally in both the scripts what would be the return.

c) If the investment is 75% in Alpha and 25% in Beta. What will be the Portfolio

return.

(% scanned with OKEN Scanner



0.05
0.20
0.50
0.20
0.05

Sl PN pLaspd B vk
o3y WELRR AT,

26

QP. Code: 48145

3 BT GonYa), 8 89N L Anlefonlalat

WL LTI
-3
6
11
14
19

D) BT T WetnT DD B STICLT BONERY, 80RWROWD.
©) TRREOD 0@ 4,TENRYO IZTHN BAARE SPRTN ¥30 8030MHRFOD STOD

-
eJeud ?
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Sixth Semester B.Com. (NEP Regular) Degree Examination,
August / September, 2024

COMMERCE
Paper : Assessment of persons other than individuals
and filing of ITR's

Time : 2 Hrs Max. Marks : 60
Instructions:

1)  All Sections are Compulsory.

2)  Section-D is compulsory.

3) Simple Calculator is allowed.

SECTION - A
1)  Answer any FIVE of the following: (5x2=10)
a)  What you mean by block of assets ?
b)  What is unabsorbed depreciation ?
c)  Whois a Working partner ?
d)  What is book profit ?
e) Whatis a resident company ?
f) Who can use ITR-1.
g) ExpandITR and TDS.
SECTION- B
Answer any THREE of the following: (3x5=15)

2. Explain any 5 proposed amendmends for capital gains.

3. What are documents are required to claim a deduction U/S 80C of income tax while
filing ITR.

4. The WDV of machineries owned by a business house are as under on 01-04-2022:

Machinery A - 6,00,000
Machinery B - ¥10,00,000
Machinery C - 34,00,000

During June-2022 Machinery C was sold for ¥3,20,000 and a new Machinery 'P' was
purchased on 01-10-2022 at ¥16,00,000 the rate of depreciation is 15%. Compute the
amount of depreciation, on this block of assets for the A.Y. 2023-24 and WDV.

1
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5. X &Y are the Working partners in a firm Net Profit as shown in P&L A/c is 90,000 after
debiting the following:

a) interest on Capital at 18% X = 321,000
Y = 36,000

b) Salaries to Partners X = ¥1,00,000
Y = ¥1,10,000

Calculate the income for the firm for the A.Y. 2023-24.

6.  The total income of a domestic company for the P.Y. 2022-23 is 26,00,000 its book profit
for the same period is ¥12,00,000.

Compute tax payable under:

a)
b)

Normal rate system
MAT system
SECTION- C

Answer any TWO of the following:
7. Briefly explain the types of ITR Forms.

8. Fromthe following particulars furnished by Mr. Dinesh calculate the depreciation allowable
for the A.Y. 2023-24 and indicate the WDV on 31.03.2023:

(2x10=20)

SI.No | Particulars WDV on Additions Rate of
01.04.2022 depreciation

1. Plant & Machinery 5,00,000 15,00,000 15%
(01.12.2022)

2. Factory building 25,00,000 5,00,000 10%

(1.6.2022)

3. Furniture 5,00,000 - 10%

4. Solar Water heater - 1,00,000 80%
(1.12.2022)

On 1.7.2022 Plant & Machinery sold for ¥5,00,000 Mr. Dinesh received 320,000 as
subsidy for purchase of Solar Water heater.

9. A, B & C are equal partners in firm of which 'C' is sleeping partner. The firm P&L Alc
for the year ended 31 March, 2023 are given below:

Profit & Loss A/c for the year ending 31.3.2023

Expenditure 4 Income 4
Salaries 64,000 | Gross Profit 4,64,000
Rent rates etc. 20,000 | Discount 17,600
Advertisement 24,000
Bad debts reserve 9,600
Depreciation 16,000
Fire Insurance Premium 4,000

2
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Partner's Salaries |

A 32,000

B 24,000 56,000
Commission

A 16,000

B 8,000 24,000
Interest on cap.@10%

A 4,000

B 8,000

C 12,000 24,000
Net Profit

A 80,000

B 80,000

C 80,000 240,000

4,81,600 4,81,600

Other information:

a) Depreciation was Excess debited ¥4,000.

b) Rentincludes rent of 'C's godown %4,800.

Compute book profit & firms total income for the relevant A.Y. 2023-24.
10.  Write a short note (any two):

a) Conditions for depreciation.

b) Procedures for TDS

c) Proposed amendments for income from Business or profession.

SECTION - D (CASE STUDY)
Compulsory Question: (1x15=15)
11.  Following is the P & L A/c of Mr. Abhinav & Co., for the year ending 31.03.2023:

Particulars Amount
I.  Revenue from operations

Sales 94,00,000
Interest on Govt. Securities 1,00,000
Revenue (A) 95,00,000

3
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Il. Expenses

Direct Materials 25,00,000
Salary 50,00,000
Advertisement 28,000
Insurance 25,000
Audit fees 65,000
Depreciation 90,000
Provision for Income Tax 40,000
Provision for contingent Liability 1,00,000
Transfer to general reserve 3,00,000
Proposed dividend 2,00,000
Establishment Expenses 2,50,000
Loss of subsidiary Co. 1,50,000
Legal Expenses 50,000
Repairs to Machine 48,000

Expenses (B) 88,46,000

Net Profit (A-B) 6,54,000

Other information:

a) The P & LA/cis prepared as per companies Act.
b) Depreciation as per rules ¥68,000.

Brought forward losses and unabsorbed depreciation are as follows:

Particulars As per IT Act As per book profit
Brought forward loss 2,80,000 3,00,000
Unabsorbed depreciation 1,80,000 1,50,000

You are required to compute:

a) Income tax liability as per normal provisions of IT Act.
b) Income tax liability as per MAT U/S/ 115JB.
c) Final tax liability of the company.

* % %
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Sixth Semester B.Com. (NEP Regular)) Degree Examination,
August / September, 2024

COMMERCE
Paper : Assessment of persons other than individuals
and filing of ITR's
RE03 ¢ 2 notd noz wognvs : 60
nRWERE:
1) ooy a3 3modhmns.
2)  open @ dEehmnd.
3) ®OY ISR BRTIZTING.
QN - R

1) tesn o 3FAvn wgda: (5x2=10)

Q) LAY 5E° Q0T ?

D) 0e0BRYE XFTY 20TTER ?

%) BOAT DLWTC Q0TT 03RT1 ?

B) HIEE o3 0TV ?

Q) DA BOTR QOWTER ?

25°) ITR-1 3, B8R0 wemwEmE ?

0w) 3o ITR and TDS.

QR -V

Yeson Roetd JIIJAVM LZ0R0: (3x5=15)
2. Qesor OO WoBTRY NOZMA INECHT SXRIANTEY HTOAD.
3. oo 301 duatr Snaent U/S 80C 39 sR3itavaig SBodhen wesands Todondnda),

WGoWD.
4. 2,08 FF@e0 B0F0D 0303R,eHTTEINE BRBRLVECHT B0
030030,63809 A <6,00,000
oo3nRe8ce B 310,00,000
032032,e5380c0 C 34,00,000

wpm® 202289 aodnemzde G @) 33,20,0008, S0t SRBCHNB FI) OHT B
o0 e80ewRY, X16,00,000 8, 07008 01.10.202200T DOHFSOND. IFZLD L3S 15%.

RPOTRTI FRF 2023-243, 135 VAN BT8P D) IRIRRPZCT IRV, B0RWAKRD.
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5. X & Y a8 @veomedo xo30d ootd & S5, 23039 Y O 3 290,000 30075323, &4
FENFYRYR sRIRAVAE 0IT:
D)  WoRHYR 20O R 18% X = 321,000
Y = 6,000
R) HLTOC RowY X = Z1,00,000
Y = T1,10,000
SPOTRTT JJF 2023-246 5~3:bt!moﬁo:§ ﬁoz:baoacmo.

6. DA BOBAH WODT IRF 2022-238, W), emo:o 26,00,000 3, ¥ ST DHLET Tyl
312,00,000.
& 8¢n= TG 30D TR 3RLeTT 301100, 30R2R0N0:

3) R T FRE

N -

e SU8S IFRCR HOIORD: (2x10=20)

7. ITR =odon¥ 2ag 3,munesy 208 Z=oN Q=00

8. bt Oed G0 2RO S SYNS BPE0T SPO[PRTT S 2023-2438 &DZSRCRU ATTY
=8 0.31.03.20238, BR3riAVET PO, B0 R0WD:

g.xo. | o=oned 203RAVRRE BPY, | BWFORD n=eY 3G
01.04.2022

1. | ™0 & o030 5,00,000 15,00,000 15%
(01.12.2022)

2. TFS BB 25,00,000 5,00,000 10%

(1.6.2022)

QedpeSBOrN 5,00,000 10%

%0038 YOBBOD 1,00,000 80%
(1.12.2022)

D08 01.07.202280%) ma!d & 0:’003 dab 35,00, 0006 R0 RIIBSIOWD. de &)?:G:-ﬁd:ﬂd)
ppletol RIINES Jejad a)betbos:@ 320,000 #moﬂads a!cé’ddo

9. &0 &3 IWVIID ToeNm0E xoﬁo:beb AROT THOTTTNTT &) ‘Y 'y DFFIT doNE
a‘awmdmhmad I zoR 033 oazs & sS:ai 2503 & g¥NT02T:

oo & 8 a3 IN-B spRcdD 31.3.2023
Duerned 4 medned 4
P ot AL 64,000 | i3 oy 4,64,000
ot 6 a0 20,000 | dodnadansd 17,600
LoD 24,000
gL DT SRR 9,600
Pt 1 16,000
&N oD o 4,000
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) 32,000

© 24,000 56,000
gaoesas

S 16,000

= 8,000 24,000
woE»YT w2 10%

S 4,000

o 8,000

e 12,000 24,000
NEY oo

B 80,000

(o~ 80,000

~ 80,000 240,000

4,81,600 4,81,600

238 Inka:

S)  TWTO XTYe sRrRAVARS T4,000.

W) e 'v'ed vomeed ten £ 34,800.

SPOFRTN Falr 2023-248, R0k 243, BmED 3 HEIT SRR, BoRROND,
10. £33,69 200000 (Hemn 2Uns):

Q)  XTEP Jdodew JWoTIred.

W) TDSId3edh.

) TFE0 SR F,30000 L SmoehE, Bt SmIRRY 80 3D,

o - 2 (23080 ©5ehT)

Bmeh Y (1x15=15)
1. &S gosnod smood SR 31.03.20238, 8n3necded oo ool & 83, n3od 81 39n3023d:

S=one 2a3
. BoRrUcEnvon 8mood
Aplent X 94,00,000
ZerD o 3ny oI 1 1,00,000
b, Omod () 95,00,000
7
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500 SR 25,00,000
Towe 50,00,000
INWHB 28,000
DTS 25,000
<8, I0BRT By, 65,000
ITEY 90,000
Lo 301 eXRe 40,000
SO BREMOE QB 1,00,000
WERT, W2 3,00,000
TN LRI 2,00,000
BB a"i‘%ﬂ'é: 2,50,000
sort BoBed 7, 1,50,000
-DEMOEN) :3;3!1!?3 50,000
cd03nReI80m TR0 48,000

() Sedned 88,46,000

(2-n) a5 ooy 6,54,000

=38 Zndkane::

S) o3 & I co03cd 0B Ted) 20138 BFT 3.
W) Cmod 3011 dedcdh I5d BT8P T68,000.
&

000T o8 aﬁa& Tonn aoeomgcs ATTPOIN & 8¥NT02T:

=oneh Emed 3070 T LB YT IO
T0THTOT IH 2,80,000 3.,00,000
Lt0BRY T XITY 1,80,000 1,50,000
ol 0WD:

D) TR 300N Z50 L) Smod Tone $T0 Sed3 I0R.
@) 800 115JB D500 MAT 8209 37 ooid 350 SO

%)  EaRdemon 20rich SAEMOS.
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